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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according

to the detailed instructions given therein.

Candidates should limit their answers to the

questions on the given answer sheet. No

additional (B) answer sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. How do demographic factors give rise to social change ?

Explain with examples.

tukafddh; dkjd fdl izdkj lkekftd ifjorZu dks tUe nsrs

gSa \ mnkgj.k lfgr le>kb,A

2. Explain the role of social change in social

movement.

lkekftd vkanksyu esa lkekftd ifjorZu dh Hkwfedk dks Li"V

dhft;sA

3. Define social progress. Does each social change denote

social progress.

lkekftd izxfr dks ifjHkkf"kr dhft,A D;k izR;sd lkekftd

ifjorZu] lkekftd izxfr dks n'kkZrk gS \
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4. What is urbanization ? Explain the factors increasing

urbanization in India.

uxjhdj.k D;k gS \ Hkkjr esa uxjhdj.k dks c<+kus okys dkjdksa dh

O;k[;k dhft,A

5. Describe in detail the economic factors of social

change.

lkekftd ifjorZu ds vk£Fkd dkjdksa dk foLrkj ls o.kZu

dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer

type questions of Eight (08) marks each. Learners

are required to answer any four (04) questions

only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Mention different types of social change.

lkekftd ifjorZu ds fofHkUu izdkjksa dk mYys[k dhft,A

2. Explain the concept of social evolution.

lkekftd mn~fodkl dh vo/kkj.kk dh O;k[;k dhft,A

3. Explain the effects of technology in social changes.

lkekftd ifjorZu esa izkS|ksfxdh ds izHkkoksa dks le>kb,A

4. What do you understand by industrialization ?

vkS|ksfxdj.k ls vki D;k le>rs gSa \

5. Describe the concept and characteristics of

Westernization.

if'pehdj.k dh vo/kkj.kk rFkk fo'ks"krkvksa dk o.kZu dhft,A

6. Explain the social changes brought about by the process

of Sanskritization.

lkaLÏfrdj.k dh izfØ;k }kjk mRiUu gksus okys lkekftd ifjorZuksa

dh O;k[;k dhft,A

7. Explain the cyclical theory of social change.

lkekftd ifjorZu pØh; fl¼kUr dh O;k[;k dhft,A

8. Write a short note on social mobility.

lkekftd xfr'khyrk ij laf{kIr fVIi.kh fyf[k,A

**************


